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Abstract

In this paper, we study the two well-known supposed consequences of time inconsistency: the subopti-
mality of the time consistent solution, and the assuming increase of the follower’s cost. To achieve such a
goal, we study different dynamic Stackelberg solutions within a pollution control problem framework. This
study is made under the assumption of different information structures, mainly we assume open-loop, feed-
back and closed-loop structures of information. Some of the numerical results may appear counterintuitive.
Hence, there may exist some situations where a time consistent solution is optimal in comparison of the time
inconsistent one. Moreover, the perfect discretionary solution may be beneficial to everyone.

Keywords: Time inconsistency, Dynamic Stackelberg game, Pollution control
JEL Codes: C7

1 Introduction

When a firm pollutes while producing, it is known that this flow of pollution will negatively affect other economic
agents. If the firm is not liable to directly compensate these agents for the nuisances it causes, the production
and the associated pollution levels optimal for the firm will not be optimal for society as a whole. One of the
main problems in environmental economics is to find ways for a regulator to force such a firm to make socially
optimal decisions, for example, through a proper use of taxes.

The problem has been extensively treated for the static case (see for example [10]). However, regulatory
taxes have both short and long term consequences on the social welfare and on the firm’s behavior. Taking these
properly into account makes an explicitly dynamic analysis imperative. As noted by Batabyal [5], among others,
a natural way to conduct such an analysis is to model the interaction between the regulator and the firm as a
dynamic Stackelberg game with the regulator as the leader.

Depending on the information structure many dynamic Stackelberg solutions do exist. In this paper, using
a discrete time dynamic model of pollution control, we derive three of them, that is the open-loop, feedback and
global (closed-loop) Stackelberg solutions and compare them. As simple as may seem the model, the derivation
of the different dynamic Stackelberg solutions are not straightforward.

It is well-know, since the seminal works of Kydland and Prescott [8], and Barro and Gordon [2, 3|, that
open-loop Stackelberg solutions are time inconsistent. From this literature, two others conclusions have been
generally admitted. First, the discretionary solution is worst for the follower than the open-loop one with com-
mitment. Second, the time consistent solution is suboptimal. Using numerical simulations, we show that those



two conclusions do not hold.

The plan of the paper is as follows. In the next section we define the pollution control model. Then in section
3, we derive the different dynamic Stackelberg solutions depending on the information’s structure facing each
player in the following order: first the open-loop one, second the feedback one, and third the global Stackelberg
solution (that is a closed-loop structure of information). In section 4, using two numerical simulations, we
compare these solutions. Finally we conclude.

2 The pollution control

2.1 The general model

We consider a discrete time version of the continuous time model of pollution suggested by Batabyal [5]. There
are two players: the regulator (the leader, R) and a monopolist (the follower, F). The planning horizon is T
periods, with T' < 20. There is no discounting. The goal of the monopolist is to maximize its cumulated profits
over the T periods with respect to its choice of output. In each period ¢, the monopolist’s revenue is given by
P(qt)q:, where ¢, is its output in period ¢, and where P(g;) is the inverse demand curves it faces.

Following Batabyal [5], the monopolist is facing three kinds of costs associated with ¢;. First, a production
cost wgq; that is assumed to be proportional to the output. Second, the tax paid to the regulator 73q;. And third,
a cost ¢(zy)q: that depends on the current stock of pollution, x;. This last cost reflects the fact that the pro-
duction efficiency decreases as the environment becomes more polluted. It may be or not internalized by the firm.

The monopolist’s optimization problem is thus given by

T

JE = ZP(Qt)Qt —wqr — Teqr — c(x)qr — {Qt}te[l,T] max (2.1.1)
t=1

We assume that P'(g;) < 0 and P”(g;) > 0, and that ¢ (z;) > 0, ¢ (x;) < 0 and ¢(0) = 0. Furthermore, we
assume w > 0.

The regulator attempts to maximize, through its choice of tax rates, its cumulated payoff. Again, following
Batabyal [5] this payoff depends on three components. First, a function B(gq;) that represents a social benefit
when tithe firm produces at the level ¢;. Second, a function D(x;) which measures the damage from pollution.
And finally the amount of money given by the tax 7yq;. So, the cumulated regulator’s payoff is

T
JR = ZB(qt) + Ttqt — D((Et) (212)

t=1

We assume that B(.) and D(.) are respectively at least C2 and C! functions. Furthermore, [B'(g) > 0,
B” (gr) < 0, D' (x¢) > 0 and D (1) > 0, that is the social costs of pollution are increasing in the pollution
stock at an ever increasing rate. The strict concavity of B(g:) + 7¢¢: is needed in order to insure the existence
and uniqueness of a solution.

Finally, we suppose that z; evolves according to

Tiy1 = flq, o) (2.1.3)

with 21 given, and where f(g) is a differentiable function, with f'(g;) > 0 and f"(g;) > 0. We also have
f (z¢) > 0 and f (x¢) > 0. Hence, the pollution stock in ¢ 4 1 is increasing in the pollution stock and in the
firm’s output in ¢.



For the purpose of the paper, we more specifically assume!:

a;
Blg) =vae — 5 (2.1.6)
2
D(z;) = 6%, (2.1.7)
Ti41 = ﬂqt + th- (218)

where the coefficients a, b, a, v, 8 and B are supposed to be strictly positive and with 5 < 1 and B < 1. The
functional forms, as well as the hypotheses made earlier on the different derivatives, are standard in economic
theory and will not be further justified here. The assumption 8 < 1 captures the fact that there is a natural

resorption of the current pollution stock, at the rate (1 — ).

We may now derive the different dynamic Stackelberg solutions.

3 The different solutions

We assume that there is no uncertainty and that the regulator knows perfectly the different parameters of the
monopolist’s profits, even his cost. Furthermore, the regulator, our leader, is strong enough to force the monop-
olist to take as given the level of taxation.

3.1 The open-loop Stackelberg solution

This solution was first introduced by Simaan and Cruz [12, 11] (for a more detail on it, see Bagar and Olsder [1]).
To achieve the solution, the following steps are required. First, to any fixed action of the leader 74, the reaction
function of the follower is derived by maximizing the firm’s payoff under the state constraint (2.1.3). Then,
integrating this reaction function into the leader’s payoff and minimizing again under the state constraint, gives
the optimal action of the leader which induces an optimal action for the follower. As noticed by Simaan and
Cruz [11], latter by Kydland [7] and popularized by Kydland and Prescott [8], this solution is time inconsistent.

Let the time interval be [1,T]. To any fixed 7, ¢t € [1,T] the firm solves

T
argqme%ég Z(a —bqt)qr — WG — Teqr — QTG (3.1.1)
¢ t=1
subject to
Te41 =Pq + th (3.1.2)
Let define the firm’s Hamiltonian by
HE (g, x4, pE 1) = IE + pELy (Bas + By (3.1.3)

By using the first order conditions required to maximize this Hamiltonian function, and after some algebras,
we get

I3
a—w—T — oz + fpig

= 3.14

q 5 (3.1.4)
Bla —w — 1 — oy + Bpl, ~

Tor1 = ( t - t ir1) + Ba, (3.1.5)
—ala—w—1 —axy) =~ af

Py = 5 + (B = 50t (3.1.6)

1Some others specifications are possible, see Batabyal [4, 5]



with initial and final condition pf +1 = 0 and z; given. The stock of pollution at the period T'+ 1, z741
is free. One reason to let it free is that the regulator may not know what is or not an acceptable final level of
pollution.

This above set of equations defines the reaction function of the monopolist (follower) to any announced tax

path. Replacing (3.1.4) into J, and given (3.1.5) and (3.1.6), we may now solve the regulator’s problem defined
by the following Hamiltonian

v+ 7)a—w—7 —ax; + Bpﬂl)

R L F _
H (Tt,pt+1apt+1,$t,ut)=

2b
_l(a—w—Tt—ozxt—l—ﬂpﬂl)Q_ﬁ
2 2b 2
Bla —w—T1 —axy + Bpl,) -
+pﬁf1( t2b : tl + Bay)
—ala—w— 7 — axy) > af, g
+ g ( % + (B - E)ptﬁ-l)

(3.1.7)

Then we know from Basar and Olsder [1] that the open-loop Stackelberg solution is given by the resolution
of the following first-order conditions:

OHE  —y—7 — Bpfiy + o

87} B 2b
—w—T1 —axy + Bpl (1 +2b
n (a —w—1 Oéitbz ﬂpt+1)( ) —0 (3.1.8)
aHtR ﬂ(a_w_Tt_a$t+ﬁp£rl) 5
= = 3.1.9
Tt41 aptL+1 % + By ( )
r_ OHF _pia(208 —af) —a(y+7) + 0P
P 8:10,5 2b
W — T — + Bpf
N ala —w Tt4b2a:vt Briy1) 521,
(3.1.10)
OHE  —ala—w—1 — axy) - af
F _ to_ t t _ 8PN\, F
pt - 8'[Lt - 2b + (/3 2b )pt+1
(3.1.11)
_OHE (v +7)B+ (208 — o)
o = apr, 20
N B(ﬁpﬁH —2b(a —w—T — ax + Bpfﬂ))
2b

(3.1.12)
with x¢ given, and y; =0 (3.1.13)

The boundary condition pq = 0 is directly related to p& 41 = 0. Furthermore, we have pht +1 = 0. As known,
the open-loop Stackelberg solution is time inconsistent, since a reoptimization latter in time, at period k for
example, will give again to set ur = 0 although initially calculated, at period 1, we have ui # 0.

Anyway, these above necessary conditions, after some algebras and following Medanic [9] give us to solve an
augmented discrete Hamiltonian matrix (i.e. with a tracking matrix) of the form:

[j%fl}:[éﬁ][ﬁf;]ﬂﬂ (3.1.14)



Where A, B, C are some 2 X 2 matrices, D is a 2 X 1 matrix and £; and p; are some 2 X 1 vectors defined by:

[ B_ 4fa1 _4fa1
= + T
A= ga_ g ha |
i 4b+1 4b+1
52 ﬁ?
— | Z6r1  Toy1
| 46+1 4b+1
[ a2 Y o>
_ | TF1 I0+1
C= . SR
s Io+1
I ﬁ(a4;w+'y)
= 1
D= Bla—w+y) |
|~ 4b+1
[ —a(a—wtry)
— Ib+1
E= —a(a—w+7) ’
4b+1
r R
e }7 and pyi1 = {p%ﬂ ]
L Piy1

3.1.1 Resolution

To solve this tracking problem defined above we use the sweep method (see Bryson and Ho [6]). That is, we
assume a linear relation between the costate and the state vectors:

Pk = SkTk — gk (3.1.15)
Thus, using this into the augmented Hamiltonian matrix we first get an expression for zj41:
Frr1 = (Iaxa — BSpy1) H(AZy — Bggy1 + D) (3.1.16)

Then using (3.1.16) and (3.1.15) into the definition of pg4+1 as given by the augmented Hamiltonian matrix, and
equating both sides we finally get the difference equations:

Sk = C + ASi11(I2x2 — BSki1) A, (3.1.17)
gk = ASk+1(IQ><2 — BSk+1)71(ng+1 — D) + Agrr1 — F, (3.1.18)

where the first equation is the so-called Riccati difference equation, and the second one defines a tracking dif-
ference equation.

The boundary conditions are:
iy = [ ”i)l ] , and pry1 = [ 8 } . (3.1.19)
And then
S7+1 = O2x2, and gry1 = O2x1. (3.1.20)

From the boundary conditions we get
St =C, and ,gr = E. (3.1.21)

and so on.

Once, the computation off line, backward in time, of the different values of Sy and g are made, the values
of #; and p; follows. These values automatically give us the ones of x;, p;, pf* and pf’, for all t € [1,T]. The
optimal open-loop Stackelberg actions are directly given after by (3.1.8) and (3.1.4).

3.1.2 The optimal discretionary open-loop Stackelberg solution

As we said, the open-loop Stackelberg solution is time inconsistent. That is, whatever is the optimal sequence
of taxation {7*}7 calculated at time t = 1, it will not be optimal to pursue with it at time ¢t = 2. Rather, the
regulator is induced to solve the truncated problem starting at time ¢t = 2 and ended at ¢ = T" which give him a



new optimal sequence of taxation {7**}2". Again at t = 3 this sequence will be suboptimal, and so on.

So, while {7*}7 is the optimal open-loop sequence of taxation for the problem starting at time ¢t = i and
ended at time t = T, let {7}7 be the first component of this sequence (and also unique one for the case where
i =T). Then, the optimal discretionary sequence of taxation, realized ex post, is

{r"Yenr = (WA Yo o A7 Y0 A7 D) (3.1.22)

In the economic literature, such a discretionary policy is generally assumed to be worst for the follower
regardless to the initial committed strategy that is {7*}7. But, as we will see, such a conclusion may not hold.
In consequence, both players, monopolist and regulator, may gain by using such a discretionary policy. If so,
the monopolist may rationally accept ex post any revisions of the initial strategy.

3.2 The feedback solution

To solve the game, under the feedback structure of information assumption, we use the dynamic programming
method with appropriate value functions (see Bagar and Olsder for more details [1]). Recall that this solution
is time consistent by construction.

Let T be the last period of the problem. Since the level of pollution xzpy; is free, the reaction function of
the monopolist at the last period is directly given by the resolution of

arg max JE (3.2.1)
That is 0w or
" — W —T7 — QX1
= 3.2.2
ar 2 ( )
where z is a known fixed value. Then the problem facing the regulator is simply given by:
arg max B(qr) + mrqr — D(z7) (3.2.3)
TT
where ¢} is given by (3.2.2). The maximum is obtained when
(14+2b)(a —w — axy) — 2by
¥ = 3.24
TT 1+4b (3:2.4)
For the problem starting at the period T'— 1, the value functions are defined by
VE(T —1,T) = [argmax JE_|] + JE*, (3.2.5)
qT—1
VR(T —1,T) = [argmax JE ] + J&*, (3.2.6)
TT—1
where J:,E and J:,E are known and supposed to be defined in a linear quadratic form
JE* = Pra? + prap + np, (3.2.7a)
JQE* = PT.’L'% + prxr +nr (3.2.7b)

Using the definition zr = Bgr_1 + BxT_l into J%? * and maximize the value function for any fixed 77—
gives an optimal action for the monopolist for the period T'— 1. Integrating this into the value function of the
regulator, using again the state equation definition and maximizing over all possible 77_1, we can write the
results in some general specific forms

e = Kixy + ke, (3.2.8)

@ = Kyxy + Ky, (3.2.9)
Tip1 = Vay + By, (3.2.10)
JE = Pa? + puwy +ny, (3.2.11)
JF = Pua? + prwy + 7, (3.2.12)



for all t € [1,T] and with

—a+2a(B?(Piy1 + Pip1) = b) + 2BB(Pi1 — 2b(Piy1 — Piy1) — 262P2,1)

Kt = = )
1+4b = 2B2(Piy1 + 2Pi41)
(3.2.13)
b — —a — 2ab + 2b’}/ + 2bﬂpt+l + 2aﬁ2Pt+1 — ﬂﬁtJrl(l + 2b — 2ﬂ2Pt+1)
' —1—4b+26%(Pryy1 +2Py)
n 282Piy1(a — 7 — w — Bpiy1 + Bhry1) +w — 2bw — 282wPi 4y
—1—4b+2B2(Piy1 + 2P
(3.2.14)
. 2653(P, P,
K= 0+ 280(Pit Pyy) (3.2.15)
1 +4b —26%(Piy1 + 2Pi41)
fy = Ay m 0t B = Pr). (3.2.16)
144b—2B82(Piy1 + 2Pit1)
Q= K, + 0, (3.2.17)
—K? -4
P=—1+ KK — 3 (3.2.18)
Pt = ’}/Kt — Ktlét + Ktlét + Ktkt, (3219)
_k2 - -
ng = Tt + vky + kiky, (3.2.20)
pt = —bkf — Oékt — Kth, (3221)
ﬁt = af{t — 2bKt];t — ’U}Kt — al;t — Kt];t — Ktkt, (3222)
flt = al;:t — bl;:f - U)I;t - ktlét. (3223)

where K, and Kr may be seen as some (1 x 1) matrices defined by the appropriate scalar Riccati difference
equations (3.2.18) and (3.2.21). The terminal conditions are

Ky = _(111722)0”, (3.2.24)
14 2b)(a —w) — 2b

b = U )§+4b) v (3.2.25)

Kr = fo;b, (3.2.26)

ko = %. (3.2.27)

To get the optimal feedback Stackelberg solutions, one must first solve off-line the set of equations (3.2.13)-
(3.2.23) using the terminal conditions, and then compute on line the values of 7, ¢; and z;.

3.3 The global Stackelberg solution

Assume that the structure of the information facing each player is a closed-loop one. That is, the leader has a
perfect knowledge of all the past and current values of the state and controls which lead him to also know the
monopolist’s actions. In such an information structure, the regulator may try to find an incentive strategy such
that he can reach his global optimum (i.e. optimum optimorum).

This optimum optimorum is assumed to be unique. Let call (¢f,7;), Vt € [1,T], the pair of actions that
globally maximized J[t. Following Basar and Olsder [1], we know that this pair of actions is directly given by

the resolution of

max JE{q T {1\ T 3.3.1
o T ) (33.1)



A necessary condition to solve (3.3.1), by using the first order conditions, is the strict concavity of J(q;, )
in ¢ and 7, Vt. That is we need no existence of singularity?. Pity, J/*(q;, 7¢) is singular in 7, Vt. Hence, a
direct optimization is not possible.

One way to avoid this problem, is to add a specific constraint on 74 or ¢; in order to reintroduce 7; in the
maximization’s problem. Such a constraint may be the willingness that the monopolist’s profits get close to a
given level. For example, the regulator may want to reduce these profits to zero. To require J/* = 0 involves
that either

=0, or q= v _baxt Ly (3.3.2)
Obviously, ¢t = 0 must be excluded as a possible choice.
The regulator’s problem may be defined by the Hamiltonian-Lagrangian function
~ a— W — QTy — T4
Lf = I + plis(Ba + Fe) + M ) (333)
To maximize over 73 and g this function, one must solve the following set of first order conditions
OLE At
=g -2 =0 3.3.4
87} a b ’ ( )
oL
3(;5 =Y—q@+ T+ Bpfil - A =0, (3.3.5)
OLE -
Ti41 = Rt = ﬂqt + ﬁxt, (336)
apt+1
OLE ~
pf = axi = —dzy + ﬂpﬁﬂ — al, (3.3.7)
aLf a—w—Qqry — Ty
= —q =0. 3.3.8
O b i (3:3.8)
After some algebras, we get
bla —w +~v — ax + Bpfhq)
At = . 3.3.9
! 2b+ 1 (3:3.9)
Using this, the following augmented Hamiltonian system has to be solved
P a 2 Bla—w+y)
{ xt# ] _ B - —2b€1 25“1;5 ] { ? } + ‘(b(zb+1z ) ]
ab 2 « —abla—w
by -4 + W1 ﬁ = 241 P Tl’y
(3.3.10)
with the boundary conditions
pi,1 =0, and = given. (3.3.11)

By assuming a linear relationship between the co-state and the state, pf* = Kyx; — gy, the following scalar

2Namely the condition that JTIE (qt,7¢) is at least a C? function in q¢ and T¢.
3We chose this zero profits’ constraint for simplicity purpose. Hence, the constraint JtR = 100, Vt, involves

a—Tt—w—a:ct—\/—4bn+(—a+'rt+w+ocxt)2
2b

qt =

a—n—w—amt—l—\/—4bn+(—a+n+w+axt)2
2b

which lead the regulator’s problem to be a non linear optimal control one hard to solve analytically.

ou g =



Riccati and tracking difference equations have to be solved off line, backard in time

a2 (B— 3K (B — 52)

K, =-6
k G 1 - EKn ’
(3.3.12)
n 2 —Ba—w
_abla—w+7) (8~ 26;)%31)1(”1([3 gt“zlﬂgl +7))
AT | | _ PKen
2b+1
~ abB
_ 7 . 3.3.13
+ (B % 1 1)9t+1 ( )
with the terminal conditions
o?b
Kr=-40+—— K =0 3.3.14
T + %1 T+1 ) ( )
abla —w+7)
= =0. 3.3.15
ar %1 y  9T+1 ( )

Once these off line values are found, the optimal sequences {z*}T {pf*}T {AN*}T, {7*}T and {¢*}T can be
calculated on line. Recall that {7*}7 and {q*}T achieve the optimum optimorum of the regulator given the
zero-profit constraint.

Next, the problem facing the regulator is to find and announce at the beginning of the game an optimal
incentive strategy such that the monopolist implements the sequence {¢*}¥. Since the regulator know either
directly ¢, Vt, or at least may calculate it from its knowledge of z;, and following Basar and Olsder [1], we know
that a candidate incentive strategy, call it 6, is

Tt = 9t(qt) = Tt* + kt(qr — qt) (3316)

where 77 and ¢; are the desired actions from the viewpoint of the regulator, and are some known values. To
proceed with 6, the regulator has to find the sequence {k}{ such that the monopolist cannot do better than
{g*}T to which the regulator responds by {7*}7. If such a sequence of incentive strategies exists, the global
Stackelberg solution is time consistent by hypothesis as it reaches the optimum optimorum of the regulator.

Since 6;(g:) is a known function, the problem facing the monopolist is a standard optimal control one. Fur-
thermore, given that there is no uncertainty, the solution will be the same whatever the information structure,
open-loop or feedback, faced by the monopolist is. For simplicity purpose, we derive the solution using the
dynamic programming method.

So, let the incentive strategy for the last period be
Or =77 + kr(ar — ar). (3.3.17)
At this last period, the monopolist problem involves to solve

argmax J¥ (qr, 1) (3.3.18)
qr

The first order condition is
a—Tp — krgp —w — oz

2b — 2k
Recall that the equality gr = ¢} is desired. Let k7. be an ”incentive coeflicient” such that this equality holds.
Its value is given by

qr = (3.3.19)

—(a —w — axp — 77 — 2bg}
ki = ( T ar). (3.3.20)
qr
We may easily guess the sign of k%. It should be positive since the paire (75, ¢5) is calculated given a
non-profit constraint which means that the monopolist, given 77, should not be able to produce more (i.e.
qr > ¢ = JE (75, qr) < 0). Since the monopolist may only decide to produce less, a lower value of gr should




be associated to an increase of 77 in order to induce the monopolist to choose ¢7.. In consequence, k7 > 0 is
required.

Anyway, the last period payoff of the monopolist can be defined as follows

JE = (a—bgy)gy — way — axrgy — TRG

= Prat + pror + fir, (3.3.21)
where
Pr=0,
ﬁT = _QQ’}v

nr = (a — bqr)qr — wqr — Trq-

One may check that 67(k7.) also induces the regulator to implement 7}.. The regulator payoff can be rewritten
as follows

JF = Pra + pror + nr (3.3.22)
with
-4
PT - 77
P = 07
q*2
nr =94r — - + Trar-

Using a similar procedure we used to get the feedback Stackelberg solution, one can get the following general
forms of the closed-loop Stackelberg solution

a—w—ary+ PPy — 7 — kg
b

= 3.3.23
qt 2 — 2k, ( )
—(a —w — Dir1 — T — 2bq;
K — (a —w — azy + [iptﬂ Ty i ), (3.3.24)
a4z
Tir1 = Bq; + By, (3.3.25)
JtR = Pt(Ef +pt$t + Ny, (3326)
JE = Pa? + pyay + g (3.3.27)
where
-0
Pt - 77
Dt = 07
*2
* q * ok
ng =7q; — t2 + T g
P, =0,
ﬁt - _aqzv

* %k

ne = (a —bgy )qy —wq; — 1, q; -

Remark: it is possible that for some values of the parameters, we have k; = b for some ¢. Then as easily seen
from (3.3.19) or (3.3.23), the problem facing the monopolist becomes singular. In such a case, the optimal level
of production may not be obtained by (3.3.19) or (3.3.23). In fact the optimal level of production is given by

a—w—ar;+ Bpp1 — 7 — kg
fkf#b
4 = 2% — 2k, itk 70,

gt if k= b.

(3.3.28)
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4 Some numerical comparisons of the solutions
The results presented here were obtained for the following values of the parameters:
a=150,b=5w=2,a=2,6 =3, and v = 5.

The initial level of pollution is set to 71 = 1. Two numerical simulations are run. In the first one, we set
B =0.4 and B = 0.5, and in tghe second one 8 = 0.8 and § = 0.8 are used.

4.1 First case: 5 =0.4 and 5 =0.5

Logically the best solution, from the regulator viewpoint, is the global one (table 1 and figure 1), and it is the
worst for the monopolist since its profits reduce to zero (tablel and figure 2). This solution involves the higher
levels of pollution?, tax and production. Recall that his global Stackelberg solution is time consistent.

Quite surprising is that the time consistent feedback solution does also better than the open-loop one, with
or without commitment (figure 1 and table 1). It is generally assumed that the problem of the time consistent
solution is its suboptimality in respect of the discretionary one (cf. Kydland and Prescott [8], Barro and Gordon
[2, 3]). What we learn from this simple model it’s that there is no way it should be always the case when the

follower has a real payoff function and not a very restrictive one®.

N
4 +
\\Q\L&Jf + £ + + + + + £ £ £ + &

2 4 6 8 10 12 14 16 18 20

Figure 1: Evolution of J/[

150

100

501

-50
0

Solutions JE JE

Open-loop (OL) 8.2256 10  3.7337 103

Optimal discretionary (OLd) | 8.2363 10° 4.1417 103

Feedback (Fd) 8.5344 10%  3.9647 103

Closed-loop (CL) 1.5064 10* 0
Table 1: Cumulated Payoffs

— 0L
o oLd
+ Fd

CL

L L L
14 16 18

20

Figure 2: Evolution of J/

The level of pollution is directly related to the regulator’s welfare. And since all others variables are con-
nected each others, we found the same order of the solutions in the figures. Hence, higher welfare will imply
higher pollution, and so a higher price and production.

As the global solution involves zero-profits for the monopolist, one may wonder why the monopolist will still
produce something ? Obviously, the regulator may accept some profit for the monopolist by allowing a little
more pollution. That is our global solution is based on a non-profit constraint. All constraints that will involve

4The reader is implicitly refereed to the corresponding graphics that are shown in appendix.
5These literatures are based on some specific Stackelberg games where the follower has a kind of cheating aversion cost function.
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a level of pollution between this one and the one obtained under the feedback solution will still allow the global
Stackelberg solution to be the first one.

The two time consistent solutions mainly differ because of the level of taxation, this level is higher with the
incentive solution (global Stackelberg) since the profit must be reduce to zero.

Another important conclusion is that, in an open-loop information structure, the discretionary solution is
better for everyone than to stay committed to the initial announcement (figures 1 and 2 and table 1). In such
a case, we don’t see any reason why this discretionary solution should involve some loss of credibility, since the
monopolist may be aware that to believe in a likely recalculated sequence of taxations will get him in a better
position after. Then he may optimally believe an initial sequence of taxation knowing that the regulator will
not continue with it latter.

4.2 Second case: = 0.8 and B =0.8

The simulation provides the same kinds of comments. That is, and the more important one, the monopolist will
benefit from a not-committed regulator’s policy to the open-loop initial solution (table 2 and figure 4).

For the regulator, the feedback time consistent solution is no more better than the optimal discretionary one
(figure 3 and table 2). But these solutions are very closed. Finally, it seems that the gain from not staying
committed to an initial open-loop solution (by using the optimal discretionary solution) is always quite small.
So, the incentive to deviate is not very strong (tables 1 and 2).

Solutions JE JE
Open-loop (OL) 3.2652 10 1.0727 103
Optimal discretionary (OLd) | 3.2725 103  1.2848 103
Feedback (Fd) 3.1988 10%  1.3525 103
Closed-loop (CL) 4.9485 103 0

Table 2: Cumulated Payoffs

600 T T T T T T T T T 200

5501\ q 180

—oL
o oud

\

500\ ol 160

\ o ol

450+ \ + Fd 4 1401

--a
L 1 AN L

400 \ SN 120

\

\
/
3501 N ) B 1001

Figure 3: Evolution of J[ Figure 4: Evolution of J/

5 Conclusion

In this paper, we derived the different possible Stackelberg solutions of a leader-follower pollution game. The
different solutions are well-known, mainly because of the work of Bagar and Olsder [1]. But despite this fact,
some misunderstandings still exist concerning the comparison of these solutions. We underline the incorrectness
of two of them: the suboptimality of the time consistent solution, and the assuming increased cost on the follower

12



when the leader use a discretionary policy.

Hence, with one particular numerical simulation we presented, we found that the time consistent solution is

the best one for the leader. Moreover, it is possible to find a simulation such as this conclusion also holds for the
follower. The gain for both players of using optimal discretionary solution was underlined. This result is closely
related to the fact that a cheating-by-second play strategy may also be a good strategy for both players (see
Vallée, Deissenberg and Bagar [13]). Finally, we concluded on the very small advantage of using such a solution.

Of course, those results were found with a very specific dynamic game model. Another one may give opposite

results. Some more theoretical understandings of the different dynamic solutions are needed if we want, for
example, to know exactly when and why a time consistent solution may be suboptimal or not. Such a project
is a currently research.
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A Graphics

We use the following abbreviations and notations for the graphics:

e ol (—) Open-loop solution,

e old (o) Open-loop discretionary solution,

e fd (+) Feedback solution,

e cl (- -) Closed-loop solution (myopic and nonmyopic cases),

A.1 First simulation: 8 =0.4,5=0.5
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Figure 5: Pollution stock
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Figure 7: Price’s level
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Figure 6: Taxation’s level
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Figure 8: Production’s level




A.2 Second simulation: g = O.S,B =0.8
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Figure 11: Price’s level
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Figure 12: Production’s level




